O (ISR 5210) O
[Od O O O ] O
O (ISR 5213) 0O
O (ISR 5211)
O ]
[O | O 1 O |
Ol
O
0O s50% |O 5% |0
20™  [30™ O
30™  [g0™ O
30™  fs0™
0™  |50™"
40 ™ |g5o ™M
go M [7o™M
1
O O
O
= mm D
O
] 18cm 33N mm2 O
O 2lcm BN mm2 O
kg m3 185 kg B3 0O
O O
O
O
O
(
(
O | ] O |
O | ] O |
O | ] O
Ol | ] O
O O ]
O O ]
O O ]
O O ]
O | ] O |
O | ] O |
O | ] O
O | ] O
) O ]
) O ]

O gomol O

28




RC

L0 L0 0o 0ol 0o 0ol 0ol
oo oo oooo o oo oo ooog ood ood
=
g
O 0f~ A —~ |~
oag m
Oo o 0o o g o 0O
oooOgoooo o o 0o o g o 0O O
oooOgoooo (]
g
O O oo
OO0l

1347

12

35

2.5

28



